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Tarakeswar, Hooghly, M- 8617748941 

SRIDHAR EDUCATION   M-8617748941 

1. Select the set in which the numbers are related in 

the same way as are the numbers of the following set. 

(NOTE: Operations should be performed on the whole 

numbers, without breaking down the numbers into its 

constituent digits. E.g 13 Operations on 13 such as 

adding /subtracting/multiplying etc to 13 can be 

performed. Breaking down 13 into 1 and 3 and then 

performing mathematical operations on 1 and 3 

is:(NOT allowed) 

নিম্ননিনিত সেটের েংিযাগুনির মটতা একইভাটে 

েংিযাগুনি েম্পনকিত সে সেেটে নিে িাচি করুি। 

(360, 65, 25) 

(216, 44, 20) 

(a) (190, 35, 17)      (b) (198,35,17) 

(c) (80, 19, 9)           (d ) (179, 66, 30) 

2. Which figure should replace the question mark (?) if 

the series were to be continued? 

েনি নেনরজটে চানিট়ে সেটত হ়ে তটে সকাি নচত্রটে প্রশ্ন 

নচহ্ন (?) স্থাটি েোটত হটে? 

 
3. Select the letter-cluster from among the given 

options that can replace the question mark (?) in the 

following series.  

প্রিত্ত নেকল্পগুনির মটযয সেটক অক্ষর-গুচ্ছ নিে িাচি 

করুি ো নিম্ননিনিত নেনরটজর প্রশ্ন নচহ্ন (?) স্থাটি েেটে? 

WBL, DIS, KPZ, RWG,   ?    

(a) YEM         (b) YDN        (c) ZDN       (d) XDN 

4. Two different positions of the same dice are shown 

having symbols @,  Δ  , ☐  , $,  ∞ and ↑  , Find the 

symbol on the face opposite the face showing    ? 

একই পাশার িুটে নভন্ন অেস্থাটি  @,  Δ  , ☐  , $,  ∞ এেং 

↑  নচহ্ন রট়েটে এেং ∞  সিিাটিা মুটির নেপরীত মুটির 

নিটক নচহ্নটে নির্ ি়ে কটরা 

 

5. In this question, three statements are given, 

followed by two conclusions numbered and I Assuming 

the statements to be true, even if they seem to be at 

variance with commonly known facts, decide which of 

the conclusions logically follows/follow from the 

statements: 

Statements: 

All doors are walls.  

All walls are rooms. 

All rooms are flats 

Conclusions: 

1. Some flats are doors. 

2.It All walls are flats. doors 

(a) Neither conclusion I nor ll follows. 

(b) Both conclusions I and II follow. 

(c) Only conclusion I follows. 

(d) Only conclusion II follows. 

6. Select the option that is related to the fifth letter 

cluster in the same way as second letter-cluster is s 

related to the the first letter cluster and the fourth 

letter cluster is related to the third letter- cluster . 

িীটচ সিও়ো নেকল্পটে নিে িাচি করুি ো পঞ্চম অক্ষর 

গুটচ্ছর োটে েম্পনকিত একইভাটে নিতী়ে অক্ষর-

গুচ্ছটে প্রেম অক্ষর গুটচ্ছর োটে েম্পনকিত এেং চতুে ি 

অক্ষর গুচ্ছ তৃতী়ে অক্ষটরর োটে েম্পনকিত। 

FALLEN :TJPOCG :: DANGER : XJKQCE::CABLES :  ? 

(a) YJPEBD    (b) ZJPECD    (c) YJPECD   (d) DCERJY 

7. Select the option that is embedded in the given 

figure (rotation is NOT allowed) 

প্রিত্ত নচটত্র ভাাঁজ করা নেকল্পটে নিে িাচি করুি 

  
8. Which option represents the correct order of the 

given words as they would appear in the English 

dictionary? 

1. Pillow 2. Pile 3.pint 4. Picked 5. Pickle  

(a) 5,4,2, 1,3   (b)2,1,3,5,4   (c ) 4,5,2,1,3  (d) 2, 3, 4, 1,5 

9. Which of the following letter clusters will replace the 

question mark? and complete the folling cluster series? 

UH, BD, IA, PY, ?   
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(a) WW          (b) WX          (c) WY         (d) VX 

10. V ,W ,X, Y ,Z, A, B and C were sitting around a 

square table facing the centre Some of these were 

sitting at comers and some were sitting at the exact 

centre of the sides. C was to the immediate right of W. 

B was third to the left of Z. A was the immediate 

neighbour of X and C.Z not at any corner, was the 

immediate neighbour of W and Y. Who among the 

following was sitting third to the right of A ? 

V, W ,X, Y ,Z, A, B এেং C সকটের নিটক মুি কটর একটে 

ের্ িাকার সেনেটির চারপাটশ েটে নেি এর মটযয সকউ 

সকউ েটেনেি এেং সকউ সকউ পাশার টিক সকটে 

েটেনেি। C নেি W-এর ডািনিটক। B নেি Z-এর োটম 

তৃতী়ে। A নেি X-এেং C এর নিকেেতী প্রনতটেশী । Z , W 

এেং Y-এর নিকেেতী প্রনতটেশী। নিটচর মটযয সক Aএর  

তৃতী়ে স্থাটি েটেনেটিি?  

(a) B            (b) Y           (c) V            (d) Z 

11. ln a certain code language, 'live life happily', is 

coded'447', 'everyone', is here is coded as '824', and 

'be grateful',is coded as '28'. How will 'count your 

blessings', be coded in that language anguage? 

(a) 658          (b) 459         (c) 856       (d)549 

12.'A^P' means 'A is the husband of P'. 

'A%P' means 'A is the father of P'. 

'A=P' means 'A is the sister of P'. 

'A&P' means A is the daughter of P'. 

If F&G=H^J then which of the following is correct? 

'A^P' মাটি 'A হি P এর স্বামী, 

'A%P 'মাটি A হি P এর োো, 

'A=P' মাটি A হি Pএর সোি, 

'A&P' মাটি 'A হি P সমট়ে, 

েনি F&G=H ^J তাহটি নিটচর সকািটে েটিক? 

(a) Hand Fare siblings.       (b) F is the daughter of J. 

(c) J is the wife of G's brother. (d) G is the mother of J. 

13. Select the option that is related to the third word in 

the same way as the second word is related to the first 

word. (The words must be considered as meaningful 

English words and must not be related to each other 

based on the number of letters/number of consonants 

/vowels in the word) 

নিতী়ে শব্দটে প্রেম শটব্দর োটে েম্পনকিত সেভাটে 

তৃতী়ে শটব্দর োটে েম্পনকিত নেকল্পটে নিে িাচি করুি।  

Colour: Red :: Vehicle: ? 

(a) Road          (b) Truck        (c) Petrol         (d) Tyre 

14. Select the option figure which is embedded in the 

given figure. (Rotation is NOT allowed) 

 

15. In a certain language, EARLY is coded as HDUOB, 

GAMES is coded as JDPHV.How will INDEX be coded in 

the same language? 

একটে নিনিিষ্ট ভাষা়ে, EARLY সক HDUOB নহোটে সকাড 

করা হ়ে, GAMES সক JDPHV নহোটে সকাড করা হ়ে 

।একই ভাষা lNDEX সক কীভাটে সকাড করা হটে ? 

(a) XEDNI      (b)KPFGZ     (c) LQGHA     (d) DNIEX 

16. Which of the following numbers will  replace the 

question mark (?) in the given series? 

নিটচর সকাি েংিযাটে প্রিত্ত নেনরটজর প্রশ্ন নচহ্ন (?) স্থাটি 

েেটে ? 

4,7, 12, 19, 28, 39, 52, 67, ? 

(a) 84            (b) 82         (c) 83         (d) 81 

17. Six friends Amit, Bunty, Vaibhav, Harshit, Pulkit and 

Gagan are sitting around a circular table facing towards 

the centre. Bunty is the immediate neighbour of 

Harshit and Vaibhav. Amit is the immediate neighbour 

of Pulkit and Vaibhav. Who is the immediate neighbour 

of Amit and Gagan?  

ে়ে েনু্ধ অনমত, োনি, বেভে,হনষ িত, পুিনকত এেং র্র্ি 

একটে েতৃ্তাকার সেনেটির চারপাটশ সকটের নিটক মুি 

কটর েটে আটে ।োনি ,হনষ িত এেং বেভটের নিকেতম 

প্রনতটেশী। অনমত, পুিনকত এেং বেভটের নিকেতম 

প্রনতটেশী ।অনমত এেং র্র্টির নিকেতম প্রনতটেশী 

সক?  

(a) Pulkit      (b)Vaibhav      (c) Bunty      (d) Harshit 

18. Which of the following numbers will replace the 

question mark (?) in the given series? 

 নিটচর সিও়ো নেনরজ সেটক সকাি েংিযাটে প্রশ্ন নচহ্ন (?) 

স্থাটি েেটে? 

4, 24, 30, 180, 186,? 

 (a) 1116     (b) 192     (c) 1118     (d) 1110 



 

Page 3 of 4 
 

SRIDHAR EDUCATION 
A Solution to Your Quest 

Tarakeswar, Hooghly, M- 8617748941 
PRACTICE SET 

                                                                   MK 

SRIDHAR EDUCATION    M- 8617748941 

19. Which two signs should be Interchanged to make 

the below equation mathematically correct?  

নিটচর েমীকরর্টে েটিক করার জিয সকাি িুটে নচহ্ন   

নেনিম়ে করটত হটে ?  

24-8+12÷48 x 36=23 

(a)+and÷       (b) × and ÷    (c)-and+   (d) -and × 

20. Which two signs should be interchanged to make 

the below equation mathematically correct?   

নিটচর েমীকরর্টে েটিক করার জিয সকাি িুটে নচহ্ন 

নেনিম়ে করটত হটে? 

25+200÷8×16-48=77 

(a)÷and-           (b)÷and ×         (c) ×and-       (d) – and +  

21. Without stoppages a train travels a certain distance 

with an average speed of 75 km/h and with stoppages 

it covers the same distance with an average speed of 

65 km/h. How many minutes per hour does the train 

stop? 

স্টটপজ োডা একটে সেি 75 নকনম/ঘিা র্ড র্নতটত 

একটে নিনিিষ্ট িরূত্ব অনতক্রম কটর এেং স্টটপজ েহ 

একই িরূত্ব অনতক্রম কটর 65 নকনম/ঘিা র্ড র্নতটত ।  

সেিটে প্রনত ঘিা়ে কত নমনিে োটম? 

(a) 10 min        (b) 8 min         (c) 9 min       (d) 7 min 

22. If A : B =5 : 8 and B : C=4 : 7, then find the value of 

A : B : C=? 

(a)5 : 8 : 14     (b) 5 : 8 : 10    (c) 7 : 8 : 12   (d) 4 : 9:  15 

23. A loan of ₹1,50,000 in availed with compound 

interest rate of 10% per annum for two years 

compounded annually.It is to be paid in equal yearly 

instalments, and the instaliment is to be paid at the 

end of each year. The value of the equal yearly 

instalment is: (Rounded off to two places of decimal) 

োনষ িক চক্রেদৃ্ধি হাটর 1,50,000োকা এর একটে ঋর্ 10% 

চক্রেদৃ্ধি হাটর িুই েেটরর জিয পাও়ো ো়ে। এটে েমাি 

োনষ িক নকদ্ধিটত পনরটশায করটত হ়ে এেং প্রনত েেটরর 

সশটষ নকদ্ধি পনরটশায করটত হ়ে।  েমাি োনষ িক নকদ্ধির 

মূিয হি: 

(a)₹84,400.44          (b) ₹86,428.57 

(c) ₹82,208.67          (d) ₹80,000.24 

24. A trader gains 12% after allowing a discount of 20% 

on the marked price of an article. Find his profit 

percentage if the article is sold at a marked price 

allowing no discount. 

একজি েযেো়েী একটে দ্রটেযর যাে িযমূটিযর উপর 20% 

োড সিও়োর পর 12% িাভ কটরি,েনি দ্রেযটেটক 

যাে িযমূটিয নেক্র়ে করা হ়ে এেং সকাটিা োড িা সিও়ো 

হ়ে তাহটি িাটভর পনরমাি নক হটে?  

 (a) 38%           (b) 40%         (c) 35%         (d) 42% 

25. Lara deposited Rs.8,000 in a bank, which pays her 

compound interest at the rate of 10% per annum 

compounded half-yearly. What is the amount she will 

receive after 18 months? 

িারা একটে েযাটে 10% অয িোনষ িকী চক্রেদৃ্ধি হাটর 8,000 

োকা জমা কটরনেটিি, 18 মাে পর তার েেদৃ্ধিমূি কত 

হটে ? 

(a) Rs.9,261   (b) Rs. 9,621   (c) Rs 9,616  (d) Rs. 9,162 

26. ln an election between two candidates, One 

candidate got 48% of the total valid votes. 18% of the 

votes were invalid. If the total number of votes was 

17500, then what was the number of valid votes the 

other candidate got?  

িুই প্রােীর মটযয একটে নিে িাচটি, একজি প্রােী সমাে 

বেয সভাটের 48% সপট়েটেি। 18% সভাে অবেয নেি। 

েনি সমাে সভাটের েংিযা 17500 হ়ে, তাহটি কত 

েংিযাক অিয প্রােী বেয সভাে সপট়েটেি?  

(a) 14350       (b) 8750      (c) 7512     (d) 7462 

27. A train runs at a speed of 90 km/h in the first 10 

minutes and 60 km/h in next 25 minutes and 15 km/h 

in last 4 minutes. What is the average speed (km/h) of 

the train? 

একটে সেি প্রেম 10 নমনিটে 90 নকনম/ঘিা এেং পটরর 

25 নমনিটে 60 নকনম/ঘিা এেং সশষ 4 নমনিটে 15 

নকনম/ঘিা সেটর্ চটি। সেটির র্ড র্নত (নকনম/ঘিা) 

কত? 

(a) 61 
11

13 
        (b) 51 

1

11 
         (c)  63 

1

13 
        (d) 65 

5

13 
         

28. The value of the following expression 

197- [
1

9 
  {42+(56-8+9)}+108] 

(a) 74           (b) 78          (c) 23         (d) 80 

29. In an election between three candidates A, B and C, 

80% of the registered voters voted and all the votes 

were valid. Candidate B, got 50% less votes than A, and 

the difference between the number of votes secured 

by B and C was 10000. If B got 10% more votes than C. 

then the number of voters registered on the voting list 

is: 

নতিটে প্রােী A ,B এেং C এর মটযয একটে নিে িাচটি, 

নিেনন্ধত সভাোরটির 80% সভাে নিট়েটেি এেং েমি 

সভাে বেয নেি। প্রােী B, A এর সেটক 50% কম সভাে 

সপট়েটে,  B এেং C এর প্রাপ্ত সভাটের েংিযার মটযয 
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পাে িকয নেি 10000। েনি B,C এর সেটক 10% সেনশ সভাে 

পাি। তাহটি কত েংিযক সভাোরটির েংিযা সভাটের 

তানিকা়ে রট়েটে: 

(a) 430000      (b) 175000    (c) 220000    (d) 537500 

30. A salesman buys 15 articles for Rs. 10and sells 10 

articles for Rs.15 Determine the percentage profit 

earned by the salesman. 

একজি নেটক্রতা 15 টে দ্ধজনিে 10 োকা়ে সকটিি৷  এেং 

15 োকা়ে 10টে দ্ধজনিে নেদ্ধক্র কটরি।তার  অদ্ধজিত িাভ 

কত হটে ? 

(a) 225%        (b) 150%        (c) 100%       (d) 125% 

31. When the same number subtracted from each of 7, 

9, 11 and a 15 the resulting numbers are in 

proportion.The number subtracted number is: 

েিি একই সকাটিা েংিযা সেটক 7, 9, 11 এেং 15 নেট়োর্ 

করা হ়ে, তিি েংিযাগুনি েমািুপাটত োটক, 

নেট়োর্কৃত েংিযাটে হি: 

(a) 4           (b) 2           (c) 5          (d) 3 

32. A, B, and C can do a piece of work in 8, 4, and 16 

days respectively .How many days will A take to 

complete the entire work if A is assisted by B and C 

both on every second day? 

A, B, এেং C একটে কাজ েোক্রটম 8, 4, এেং 16 নিটি 

করটত পাটর ।  A প্রনত নিতী়ে নিটি B এেং C সক োহােয 

করটি পটুরা কাজটে েম্পূর্ ি করটত A এর কত নিি 

িার্টে? 

(a) 
3

4 
        (b)  

7

8
        (c) 

26

7
        (d)  

54

11
         

33. A triangle has two equal sides, and the third side is 

1.5 times any of these sides. If the perimeter of the 

triangle is 14 units, then the area of the triangle is 

square units. 

একটে দ্ধত্রভুজ িুটে েমাি োহু আটে, এেং তৃতী়ে োহুটে  

এর সেটকাটিা একটের 1.5 গুর্। দ্ধত্রভুটজর পনরনয 14 

ইউনিে হটি, দ্ধত্রভুটজর সক্ষত্রফি কত ের্ ি একক হটে? 

(a) 3√7        (b) 3√3       (c) 
3

2 
 √7       (d) 4√7 

34. X was offering two successive discounts of 12 

percent and 8 percent on an item while Y was offering 

flat 20 percent discount on the same item. What is the 

difference between overall discount given by X and Y?  

X একটে আইটেটম 12 শতাংশ এেং 8 শতাংটশর পরপর 

িুটে োড নিট়েনেটিা, েিি Y একই আইটেটম 20 শতাংশ 

োড নিটচ্ছ৷  X এেং Y িারা প্রিত্ত োমনিক োটডর মটযয 

পাে িকয কী হটে? 

(a) 0.96%        (b) 0.90 %       (c) 0.94%        (d) 0.92% 

35. Two trains having lengths 550 m and 650 m are 

running parallel to each other in opposite directions at 

speeds of 68 km/h and 40 km/h respectively. In how 

much time (in seconds) they will cross each other? 

550 নমোর এেং 650 নম বিঘ িযনেনশষ্ট িুটে সেি 68 

নকনম/ঘিা এেং 40 নকনম/ঘিা র্নতটত নেপরীত নিটক 

এটক অপটরর েমান্তরািভাটে চিটে। কত েমট়ের 

মটযয (সেটকটে) তারা এটক অপরটক অনতক্রম করটে? 

(a) 45              (b) 35            (c) 30            (d) 40. 

36. The average of the first four prime numbers that 

are odd is: 

প্রেম চারটে সমৌনিক েংিযার র্ড নেটজাড েংিযাটে কত 

হটে ? 

 (a) 6            (b) 6.5           (c) 4        (d) 4.6 

37. A man purchased two items at the same price and 

sold one at a profit of 10% and the other at a loss of 

5%. If the difference between the two selling prices is 

₹60, then what is the sum of cost price of the two 

items? 

একজি সিাক একই িাটম িুটে আইটেম নকটিনেটিি 

একটে নেদ্ধক্র কটরি 10% িাটভ এেং অিযটে নেদ্ধক্র কটরি 

5%  ক্ষনতটত ।েনি িুটে নেক্র়ে মূটিযর মটযয পাে িকয 

60োকা হ়ে, তাহটি িুটে আইটেটমর ক্র়েমূটিযর 

সোর্ফি কত? 

(a) ₹700        (b) ₹900     (c) ₹600      (d) ₹800 

38. Which of the following numbers is NOT divisible by 

167 ? 

নিটচর সকািটে েংিযা 167 িারা নেভাজয ি়ে ? 

(a) 16826     (b) 17776    (c) 18016    (d) 5168 

39. If 125 identical small spheres are made from a solid 

sphere of diameter 15 cm, then what is the surface 

area of (in cm ³)each of the small sphere ? 

েনি 125টে অনভন্ন সোে সর্ািক নিট়ে 15 সেনম েযাটের 

একটে কটিি সর্ািক বতনর করা হ়ে , তাহটি প্রনতটে 

সোে  সর্ািটকর সক্ষএফি কত হটে? 

(a) 9π            (b) 12π           (с) 4π          (d)36π 

40. Sohan and Rohan together can do a piece of work 

in 18 days. If Sohan alone can do the same work in 27 

days, then how many days Rohan alone takes to 

complete the same work? 

সোহাি এেং সরাহাি একোটে 18 নিটির মটযয একটে 

কাজ করটত পাটর। েনি সোহাি একা একই কাজ 27 

নিটি করটত পাটর, তাহটি একই কাজ সশষ করটত 

সরাহাি একা কত নিি েম়ে সি়ে? 

(a) 72               (b) 54           (c) 66           (d) 48 


